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Final Exam Review    This is part of your exam grade
Hour




Chapter 6


75.  Find the rate of change in the table.  Explain what the rate of change  means for this situation.
	Time (hours)
	Distance (Miles)

	        4
	         160

	        6
	         240

	        8
	         320

	       10
	         400 


Find the slope 
76.
of the line that passes through


77.
of the line that passes through 

(-1, 0) and (-4, 3).




(2, 6) and (8, -1).
78.  State whether the slope of a horizontal line is 0 or undefined.  Explain how you know.
Find the slope and the y-intercept 
79.
for  y = -4x + 3.



80.
for the line 10x - 5y = 20.
81.  Graph the equation -4x + 4y = -16  

82.
Graph the equation  y - 2 = -(x + 4).

using the x- and y-intercepts.
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83.  A line passes through (2, -4) and (-2, 6).


 a) Write an equation for the line in 


b)  Rewrite the equation in slope-intercept

point-slope form. {y – y = m(x – x)}

 
      form.   {y = mx + b}
84.  Write an equation in point-slope form for

85.  Are the graphs of these two lines parallel?  
        the line that passes through (2, -4)


       Explain.


        and has a slope m = 3/4.




       y = 1/5 x + 8

-2x + 10y = -11

86.  Write an equation for the line that is


87.  Tell whether the two lines are parallel, 
        parallel to  y = -5x + 3 and passes


        perpendicular, or neither.
        through (-4, 2).





         3x + 4y = 4

2x + 4y = 3

88.  Write the equation of a line that is 
       perpendicular to  y = 3/2x - 9 and

       passes through (6, -5).
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